The Hashemite University Calculus | Date 12 -11-2012

Department of Mathematics “Second Exam Time: One Hour
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1) Let f and g be differentiable atx =1, such that (1) =1, f'(1) =2, g(1)=-2 and

d \.
g/(1) =4, then 7—(8(X W) =

a) 5 @ o) -_Z d)%

2) Iff(2) = 1, g(x) = In(x’ + 1), and (gof)'(2) = 6, then £'(2) =

a) 7 b) -3 @ d) 8

3) The equation of the tangent line to the curve

f(x) —sin’x —x cosx+3 at x = 0 is given by

a) y=X+13 b) y=x-3 ¢) y=—X—3

4 .
4) The critical point(s) of f(x)=x+ —1s (are)

X

a) 0 only @andﬁandz c)-2 and 2 d) 2 only

E—
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5) The values of k and m that make

1
f(x) = {; R AT differentiable at x=1 are:

kx—m ,x<1

@; b) k=0, m=2

¢) k=-1, m=2 d) k=1, m=2

| o\ —2%
Fm o ime () =
a) e? b) e® c) e®

7) The value of (¢ ) such that the liney = —x — 4, is tangent to the curve y = c\/x

b)c = —2 c)c =2 dyc=4

2
8)If 2x2%+ y?=2, then 7

dx?

(=) v& 9 0%

iy 2
9) One of the following is an inflection point for f(x) = ~

x243

(L) DO,

B B " ' —
10) f(x) = I“:H increasing in

) [-1,1] b) [1, ) &) (~o0,0] Q[ﬂ' o)

11) f(x) == concave down in
a) [-1,1] b) (=0, =1U(1,) ¢ (-11) d) [0,)
12) f(x) = xig has absolute maximum at

a)x = —1 b x=0 ¢c) x=1 @onoﬁ@
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